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1. Reaction

1. afufisa

Ph i
NH,-NH 1) NH,-
SC= e Yo AL NRCNH, \ [B]
PR (2) C;HONa Fh Egg C,HONa
(3) A A
The major product [B] in above 5 81 #
Faies Sl HE Fame [
. . Ph
Reaction is: (A) h:‘:“z
Ph P
(A) TcH Ph
PR (B) ::CH-—DH
Ph Ph
(B) “cH-oH Ph_
Ph" (C)  ~CH-cHO
Ph Ph
(C)  ™cH-CcHO Ph
- M
i (D) KCH—KI'DH
Ph Ph
(D)  ™CH-COOH
Ph”
2. Isopreneis a: 2, SmEEnH g
(A) Butene-2 (A) =2
(B) Isolated diene (Ei |_IEIi 'immﬁ
(C) Cumulative diene ( :
(D) wfing s

(D) Cenjugated diene
3. Hofmann exhaustive methylation is

3. =i oesdRg AREEIe & J94

used to synthesize. et & wieeror & frre fesan S #
(A) Alkanes (A) e
(B) Dienes (), ST
(C) Alkenes (C) e
(D) Alkynes (D) vrwr
4 Which of the following is an 4. e # 9 @ sdofas difis &2
arganometallic compound? (A) C,H,ONa
(A) C,H.ONa By
{(B) CaC,0,
(C) CH,COONa (C) CH,COONa
(D) (C.H).Pb (D) (C,H.),PD

0ez0201\DM\2024

[3] P.T.O.
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The ester obtained by Reformatsky
Reaction.

(A) a-hydroxy ester

(B) p-hydroxy ester

(C) o-bromo ester

(D) p-bromo ester

Aldehyde may be distinguished from
ketones by using:

(A) Fehling's solution

(B} Con H,50,

(C) Pyrogallol

(D) Grignard's Reagent

Which of the following is most acidic?
(A) CH,-CH,-COOH

(B) CH1—§H~CDGH
Br
(C) CH;-CH-COOH
&
(D) CH,—EIH—CDDH
F
Which of the following compound is

most acidic?

CH,- CH,-CH,-COOH

CH,—-CH:~CH-COOH

Br

CH, —I!%H—EH:—CDDH
Br

CH.-CH;-CH,-COOH

Br

De20201\D\2024
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S,

[4]

frnieet afifsa & X B mex
i Bl B

(A) o BT TReY

(B) p-EEFEE TRT

(C) o-AMHE TR

(D) P& TR

ey # & Tobe o 09T T Uitserel
Frerr # fade e 5 b &

(A) et e

(B) ¥ H,SO,

(C) writee

(D) T sifyes

e & 3 Fe-ar 9E 3w g &

(A) CH,-CH,-COOH

(B) cH,—qH—cDmH
Br
(C) CH; —L'I'H—CD'DH
Cl
(D) CH;-CIH'-C'DGH
F
= W A a-w i we e aeia

2

(A) CH,- CH,-CH,~CcooH
(B) CH:—CH;L—III:H-—CUDH
Br

(<) CH:—EH~CHI ~-COOH
r

(D) CH; —CHz‘CH;-[:nﬂH
r




10.

11.

12,

13.

Which of the following compound is
most acidic?

(A) CH,COOH

(B) FCH,COOH

(C) CH,CH,COOH

(D) F,CHCOOH

Which of the following alkaloids is
used for Lowering Blood Pressure?
(A) Quinine

(B} Resarpine

{(C) Morphine

(D) Hygrine

Which of the following alkaloids

produces lung and mouth cancer?
(A) Nicotine
(B) Morphine
(C) Cocaine
(D) Reserpine
The Nitrogen analogoues of enols
are called
(A} Enaminas
(B) Dithianes
(C) Thiols
(D] Nitrenes
o
CH; = ".II—CH.- anion is known as
(A} Vinylate anion
(B) Acetate anion
(C) Carboxviate anion

(D) Enolate anion

0E20201\D'2024

10.

11.

12,

13.

ey 8 3 Bl it ek ot o &7
(A) CH,COOH

(B) FCH,COOH

(€) CH,CH,COOH

(D) F,CHCOOH

By § % @ ieiseess THoM PH
w5 o Judn e Fer 57

(A) T

(B) R

(C) Hifth

(D) EHUA

= 3 W @t tebaTes BBs AT HE
&I the JeUH T &7

(A) FacH

(B) AEH

(C) B

(D) ReEmuE

T & IS T B B &
(A) FRIH
(B) =ZEUR
(C) e
(D) AEgH
o
CH; = C~CH, U1 @) medt & 1
(A) TormeTe T
(B) TeiTe FEEA
(C) SEadee ema
(D) §Heie T

PT.O.
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14.

15.

16.

17

Malonj
onic ester gp, hydrolysis and heat
gives:

(A} Acetic acig

(B} Malonic acig

(C) Succinic acid

(D} Proparoic acid

Which of the following is not Reactive
methylene group compound?

[A) Ethyl acetoacetate

(B} Acetone

(€} Diethyl malonate

(D) Cyanoacetic ester

Acid halide reacts with Alcohal to

form:
(A)
(B)
{C)
(D)

Ester

Aldehyde

ketone

Carboxylic acld

Which of the following compound
an treatment with NaHCO, will give
o,

(A} Ethylamine

(B) Acetone

A =i
(C) Methano

(D) Acet

e o e

L]

=213
e

0620201\DA2024
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15.

16.

17.
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(D) = RS T

ofire demgs bemieet 3 T Ran wes A
4.

(A) E=X

(B) wftsems

(C) @EH

(D) wEiaam e

Fret 7 2 e W dif® NaHco, & W
firen 3% Co, &P

(A) uiEE o

(B) e

(C) HmiTe

(D) UEiRee ama




£

""1'_.-

P

18. Reaction

19.

<§>::rau:nﬂt:i-lztt:::H::::JHﬁ]n2 Pyndine,
[x1 M@- CH=CH-COOH

{2} A
This Reaction is an example of a
Reaction which Is:

{A) Claisen Condensation

Rebormatsky Reaction

(B)
(C) Perkin's Reaction

Knoevenagel Reaction

(D)
Reaction

—

H.0
5 5 -

><c Hg,Cl, in CH,OH
H H,

This compound [X] and [Y] are:

» [X] + [¥]

(A) CH,CH,SH and HSCH,CH,OH

Qo
I
(B) CH;-C-H and HSCHECHJSH
C
f
(C} CH,-C-CH and HS-
CH,CH.CH,SH
and

(D) CH,CH,SH
0

i
HSCH:=CH,=C-0H

0620201\D\2024
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[7]

18,

18:

fufisn

@- CHO+CH,ICOOC M, |, Pyriding ,

{1) H,OfH*
[x] T:T:.L_’@ CH=CH-CO0OH

I sfafsar P & & s =
a7

(A) FereT WU

(B) Reriews afafso

(C) fds= sl

(D) Frd-iea sitafma

i

» [X] + [¥]

. H,0

>< Hg,Cl, in CH,OH

H CH,

Tt [%] B [Y] &

(A) CH,CH,SH 3t HSCH,CH,OH
i

(B) CH,-C-H 3R HSCH,CH,SH
i

(C) CH;-C-CH Hi

HS5-

CH,CH,CH,SH

(D) CH,CH,SH
O

|
HSCH:—CH.-C-0OH




D 20. Reaction 20, fufEar

NH, NH,
(1) (CH,C0).0 (1) (CH.CO).0
—-—3.4_}[;,:] @ i 2 4w
(2) Br/H,0 (2) Br/H,0 )
The major product [X] in above 3R e # ge T (K] &
Reaction is: Br
Br
(A)
(A)
NHCE.’ICHH
NHCOCH,
(B)
(B)
NHCOCH,
NHCﬂCHl
C
©) (C)
:
g NHCOCH,
NHCOCH,
D
® ©) o @),
Br
21. Reaction 21, sl
OH OH
@ Conc HNO, . AT @ Conc HMNO, ) [A]
The major product [A] in above IR sififeear # Fe s [a] &)
Reaction is: WH
OH
A (A) L.
2 0 MO,
(A) L*LN 0. NO,
NO,
l"jﬁ (E) @
(B) LC OH
O NCI?
\ () ;
OH
NO MO |
oy
NGO

[B]
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22,

23.

24.

Feaction 59

R-C= N TNy

The major product [A] in above
Reaction is:

{A) R-CHO

(B) R-COCOH

(C) R-CH,~CH,-NH,

(D) R-CH,=NH,

Feaction 23.

COOH

NaOH/Br,
[A]
CONH,

The major product [A] in above

L

Reaction is:
COOH
® (O
NH,
COBr

B
%) CONH,

CO0OH
o X
{ ] COBr

24,

Reacti Un

H m KOH
'*~\E p; CH,-X oA ™
Ig (3) H DfDH

The major product [A] in above
Reaction Is:

(A) CH,~NH,

(B) CH,~CH

(C) CH,~CH,

(D) CH,CH,OH

0620201\D\2024 [e]

l.-l s P s
EE.. e ﬂ-l: -'.J'l".'.-

. gt

R-C =N _Hu/NI_ [A]

Fqreh ATHidw # 1y 3w [(A) 2
(A) R-CHO

(8) R-COOH

(C) R-CH,~CH,~NH,

(D) R-CH,-NH,

i
RoRe MNaOH/Br

X £ o
CONH,

Irres Fffism § g 3w [A] B

» @:CGGH
(&) @:EDNH

COOH
© @EL‘}BF

I
(1)KOH
@:Qc”"* @ aix

I (@) H0/0H
FpRres aififian o g e [A] 21
(A) CH,-NH,
(B) CH,-OH
(C) CH,-CH,

(D) CH,CH,OH

https://sarkarinaukarikform.com b



25, Reaction 25 R
i 0
CHs=CH,-C-NH, NAOW/BE: _(a) CH, ~CH, - C-NH, —NEOH/BT_ ()
The major product [A] in above Jqdven afifra # s 3eE [A] Gl
Reaction is:

(A) CH,CH,CHO
(A) CH.,CH.CHO

(B) CH,CH,COOH
(B) CH,CH.COOH

CH,CH,NH,
(C) CH,CH,NH, ey REgERE

(D) CH.CH.CH. OH (D) CH,CH,CH,OH
26. Reaction 26, e
T I H:0/Na0H
LH,=NH. E..“I:I:i'ﬂ -CGE; ..... ..Hl.l EHI_NHJ+E+HLEDCIL:”:E$D_H.--I#|

The major product [A] In above

e sl 7 1T T (A €

(A) CH,-NHCOC,H,

Reaction is:

(A) CH,-NHCOC,H,
: (B) C H,COOH
(B) C,H,CO0M

C) CH -CH.COOH
(C) CH.-CH.COOH () 3 2

(D) C H.CONH (D) C.H,CONH,
77. Reaction 27. wffdsm
el MH.
" S0 =
O ~~. (1] H,50
" )] -
&) 57—

The mator product [A] In above

Jydien afifiran & e 3amE (A] 2

NO, NH,

. 8 (CL (A) @ (B) @
=5 SO,H

2 il S50,H NH,

L H:." D ; (C) @ (D) @

- S0OY

[10]
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28. Reaction 28, wfufem

NHE NHI

NaNO,+HC H,PO, @ NaNO,+HCI H.PO,
@ 0-50C (Al — [B] o.soc | Al—— [B]
The major preduct [B] in above

syeies iffisan ¥ we o (B) &1

Reaction is: i {I:I

g n@ ®@©
WE ®@

NO,

ND:. )
(©) @ (D) @ (© @ (D) @

29, Reaction 29, i
L (1) Sn/HCI NO,
g* g LY, CuBr
(O] e+ [A] (8] @ (1) Sn/HCI ok
L JaN HEr ! ——[B
=" (55 PHEE.?—JFHCI (2) NaNO,+HCI [A] a7 (Bl
' 0-5@
The major product [B] In above
Fuiren aifiifan 3 e 3w (6] 2
lgaction Is:
NH, OH
H OH
. . (A) (B)
(A B) | &
- cl Br cl
0@ ©E©
DE20201\D12024 [11] PT.O.

https://sarkarinaukarikform.com




30. Reaction
NO,
F s
@ a/HCI (A] (l}MaMEt.:;EHEI [B]

31.

(2)K1

The major product [B] in above

reaction is:

NO, OH
© @

Reaction

MH.
(1) NaNO,+HCI
0-59C

©
(2) {e3-0H

The major product [A] in above

[A]

reaction is:

(A) @”‘”@‘ o

@ (O y-n=

(© KO/

-"'...- = EH
oy i< 0 p-nen=< 0 )-

[12]

30. sl

31.

https://sarkarinaukarikform.com

NO,

aMOs +HC
@ peHC (a5 see 18]
(2IKI

; Emﬁgﬁmlﬁl%l

(1) NaNO, +HCI
0-59C

(2) {o 0oH

Irdws e # e 3E [A] £




32. Reaction a0 aflfi

OH OH

NH, : NH,
@ H&HEI+HE1{A} o @ NaNO,+HC!

0-5oC ogee T A—— [E]

The oduct [B] |
major product [B] in above FR A i Ter 3w [B] B
reaction is: "

OH
- w O
@ (O s

N=N-o} OH
OH
@ (O

Cl

33, Reaction 33, gk
Mo, @_chua NO, ~CHy
Ly Femel oy (1) FefHCl @”"‘CH, :
3) Nano_ang | M v [2) NaND +HCIT M *E]
0-50f ﬂ'Elﬂé
i in above
The major product [B] In Fres sfufisen # gea s (B) 1

reaction is:

" N=N

\B) h_?ﬂma—ﬂum-{ii} —NO, (B) <i:::>—ﬂ=ﬂ—<::::>—mﬂi
CH
* Al CH

Cy £ O n=N— O M e @N=N@Nf 3
it e e CH, (C) “ch,
(D) € C ‘——w=“_qf 0
SR e (D) € O J—nN=N

0820201\D\2024 [13] P.T.0.
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34. Reaction - Ryt

| NaNH, H.O
ET]E_C-_-} [A] _..3__.,[5]

H.O
NaNf, |, tag—2——1(B]
‘1100C

The major pProduct [B] in above
e e 3 7 3 [B] ¥

reaction is:

o

OH
(A) @ G;’L e ';ltl e @\NHI
B
® LA,

NH H,
2
< lff:zlcm (B) @ (©) Q\DH () (I‘S;

35. Reaction a5 atfifEsar
&)
’ﬁ Ph—-0-0-H e
| Al Al
[‘”? @ PR b -0 g
The major product [A] in above |
Io<ren sfhlimen 8 =g 3aaE [A] 2
reaction is:
H (A) @\ ( H
L @ (Y o ® Y
w L, ®C
jH OH
el ; = _
|
0 . |
06202011D12024 [14] .
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36. Reaction 36.

3/,

i)

n CH
E:‘:Q-I-H—E—Ni s POCI
CH

H 3

—E'p. [E]

The major product [E] in above

reaction is:
(A)
H CHO
CHO
® (IJ
H
CHO
© X
H
(D) O] [
.»r"}:,_|1
H
Reaction ar.
CH,-0H
NH -
L. H:S0:/FeS0: )
(o] + CH-0R —EHND:/A
CH,-OH
The major product [D] in above
feaction I1s:
L _;h-.,__,-ﬁ;,,l
() CLY B Ay
.-FHH-\'H-*'\.'\.‘-\. . _.-""_':"‘\-T.'-.
(C) | © 1 (o | ?I
: ""-\-.._F,_.-'_""\-\,_:'i H‘“-N
[15]
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RAEH T 1
)
+ H-l!l:—l"-l :_f::z F"G_El.]_’ [El
e afifie 4 oy 3= (] #)
A
® Lk,
CHO
® (1
H
CHO
© C1
H
(D)
il
Hiafman
iy ?HE_DH H:S0s/Fe504
CH.,—OH
ToRies affieaT ¥ W s (D] @1
NC=R O®
H




F

39.

0.

41.

Reaction

CH,CH,-NH
@ e ? (1) POLCI
e e i )

(2} Pd-190°C
The major product [A] in above

reaction is-
() e. (B)
(C) Q (D)

Dyes are formed wh:n Benzene
diazonium salt reacts with:

{(A) Phenol

(B) Aldehyde

{C) Ketone

{D) None

Which of the following compounds is

most basic?

(A) C HNH,

(B) CH,NH,

(C} CHCH,NH,

(D) (CH5),NH

The reaction of ethyl amine with
CHCI, and alcoholic KOH gives?

(A) C.H.CN

(B) CH,NC

(C) CH,CN

(D) CHNC

0620201\D\2024
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38,

a8,

40.

41.

[16]

i

CH,CH,~NH,

)

Jaes it # e 3E [A] B

) ® (1)
(C) Q (D)
H

o IR & Fw A= SEUAIEH Gau
G e &

(A) feier & T

(B) UirseTgs & WY

(C) PR & T

(D) 3 &l

o= =il A & B9 dis e ifts
BTN &7

(A) C,H.NH,

h
P (1) POLCI,
+ H=C-Cl {_21—"} Pd-lgtm?[

(B) CH,NH,

(C) CH,CHNH,

(D) (CH,),NH

veller 99, CHCI, 7 tewEies KOH 5
T e @ adt @

(A) C,H.CN

(B} CH,NC

(C) CH.CN

(D) C,H.NC




42. Which of the following compounds is 45 B & % w911 oifies s a2 27

H
43. Reaction 43, il
@Lﬂ”-{m | f;l KOH _ 1a)
The major praduct [A] in above IR e ¥ e e [A] 2
reaction is:
(A)
(A) @\ OH
OH
OH (B) fjﬂH
(B) Q’J’ "
(C)
{C:. (f‘::]\cﬂ.gH Er"T;]\El'.':li'.'rH
COOH OO0H
(D) @/ (D) qj
44. Reaction 44, FuTHar
=5 HCl
EN;J ~—[A] Q HCl _(a;
The major product [A] in above
s il § 9 IE [A] 2
reaction Is:
cl c
& Y (A) Q (8) Qf
(A) i (8) -_wﬁl €l
%\ |
i ey o,
(C) ;"“‘.*;"J (D) NEor (C) C;j (D) r:|'
H H .
0620201\D\2024 [17] P.T.O.

ki

not aromatic?

w3 ® o w {3 @ )

CRESINCES @3 o}
H
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il L

.
-

45. Predict the product formed in gW’Eﬂ

Reduction
0

@ (1) DIBAL-H
Hexane, _?E.uc’?

(2) H,0/H*

(A) Benzoic acid

(B) HO-(CH.),-COOH

(C) HO=(CH,},-CHO

(D) HO-(CH,),~CH,OH

. Reaction

S o Sel.
(J e
(CH.CO).0

The compound [A] in above Reaction

f"““'a-f*g
Ay | L.
o)
P
ot I R
e LI
© [
B
m~_AHO
(D)
-‘\"'H_-I""-

0620201\DA2024

httpﬁ://sarkarinaukarikform.com

45, P e A FE T4

o
(o1BALH
Hexane, —78°

(2) H,OfH

(A) ESEE I
(B) HO-(CH,),~COOH
(C) HO-(CH,),~CHO

(D) HO-(CH,),~CH,OH

. s

0 seo,
Gt
(CH,CO0),0

IS flmar | Oifie [A] &




47.

48,

Reaction

A

The compound [X] in above Reaction

m-CPBA

(%]
CH,Cl,

48.

[19]

& m-CPEA (%]
CH,Cl,
Furen sl o aifim (0 #

aodren sifufisan 7 diftrs (Y] &

[A) DH
0
H
(B) @E_DH

OH

() [j@ff— OH

https://sarkarinaukarikform.com
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49, Y-
Predict the product formed In Given 49, P i § I W1 |

Reduction i
___'_"I_'::E_i_-n ?
NIBH" ceCl
T e 7 MeOH
Meoiy
CHO

TGO
(A) Q (A) [ﬁ
(B) (i} (B) &
T
i © (]
® () (D) é

50. Predict the product formed in Given 50, Pt s # gare ae i

()

]
.

CHO
Eedurtion MHaBH
EEH{'." ({;\, .;}
i S etOH
f , ll.*lnl": ih ;!;ﬂ.
e FLEa Ll %
O, CH,OH
f"H_{:lu (A) 'I;_!ﬁ
o T
(A) | NO,
N0 :l:nprf
{ n‘{bh lﬁj 1 L:_:l
e ~
(B) (X NH
'fin-_ CHO
L .-l-\
] (c) (0]
(C) T
. NH,
Py =
CODH COOH
-~ (D) (O
(D) L:T;_.! l
NO, NO, |
DE20201\D2024 [20] |
|
|
https://sarkarinaukarikform.com :




51. Predict the product formed in Given 51 Ry sqaoe & 7= e i

Reducton A\ /C00CH; (1) LAl JEther |
MﬂGC;HE (1) LialH o/Ether (2) HO/H
() HgH o COOC_H
Cooe (A} f;fﬁhkfg” 2 g
(A) gf!hxﬁuf’# JH. .
CODH
COOH B) N
4. e W
co COOH
I W © N\
B, P, B A AT
52. Predict the product formed in Given  52. [ 3Uea= # Fm oy SifowE
Reduction NMe,
@ (1) Ma/NH, (1)
e (2) stOH, -78°C
@ (1) Na/NH,()
(2) £tOH, ~789C

MMe,

ﬂ Je
e

NMEz
T"|||""'|'E2 @
B
(63 Cj (B)
NH, NH,
(©) @ © O
NH, ”
oC oS
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53.

24.

=23,

P
redict the Product formed in Given

Reduction

T

THE
" t-BUOH (1 eq)

OH
e
Me

ol
HO
o5

Me

o ()

Me
Identify the Wilkinson's catalyst?

7

(A) (Ph,P),RhCl

(B) (Ph,P).,RhCI

(C) Ph,PCOCI

(D) (Ph,P),COCI

Which one of the following is not an

organometallic compound?
(A) C,H.Li
(B) (CH,)Pb
(C) CH,MgCl

(D) C,H.ONa

0620201\D\2024

[22]

53. ﬁﬂmﬁmﬁmmm

¢

THF
Me t-BuOH (1 eq)

oH
(A) @L
Me

(8) [ii
0

HO

@ Q)

Me

o )

Me

P 3 & ol a1 facie=a 30RT 2

L/NH()

54,
(A) (Ph.P),RhCI
(B) (Ph,P),RhCI
(C) Ph,PCOCI

(D) (Ph,P),CcOCI
55.
gl

(A) C,H,L
(B) (C,H,).Pb
(C} CH,MagCl

(D) C,H.ONa
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56.

57.

38.

0620201\D\2024

Dimethyl zinc was discovered by :

56.
(A) Frankland
(B) Grignard
(C) Haworth
(D) Graebe
Reaction 57
]

I
CiH~CH = CH-C-CH, ] CrRe (A

The final product [A] of this Reaction
is:
0

I
(A) CoHs— (EH'CHz‘C—I:HJ
Ha
OH

|
[E'} CﬁHE_EH = CH—CH—CHg
CH: '

I
(C) CsHs-CH = CH-CH-CH,
CHa Q

I ||
I:DJ CaHs= II‘: -EHz-C-CHa

CH,
Reaction

He

The final preduct of this Reaction [A]

(1) CH 3l'-'lI;;|Elr.-l"l.".“u:_:lil-rz_1
(2) H,0/H*

[A]

Is:

(D)
[23]

58.

sé Hftre foien o wihar forels gro & i1
(A) Tmdtos

(B} Frrmd

(C) wmaef

(D) &

T

0
I
CiHs—CH = CH-C-CH, —\2JCHaMaCl

(ZiHon/HeT A

g9 sitilisar @ 3ifae 3aue [A] 21
]

I
(A) CasHs- ﬁ!‘l ~CHy-C-CHs
CHa
OH

i
(B} CsHs—CH = CH-CH-CHs
CHs

I
{C} II:IJ H-.:-EH — EH' I:H-CHI
CHs O

| [
I:D:] CiHeg= 'I: =CH:-C—-CHs,
CH:

o

5 FTaTbar &1 aifam 3o [A] #

(1) CH,MgBr/Cu,Br, !
(2) H,0/H*

[A]

P.T.O.
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59. Reaction

CH, BuLj
——[A]

The final product [A] of this Reaction

60. Reaction

CH. I /fEn=Cu
O 2tz [A]

The compound [A] in above Reaction

I5:
w (I
- O,CH3

o (J I
o (>

0620201\D\2024

60,

[24]

H, Bulli
ocH, Bu (A]

mﬁmﬁqﬁimﬂﬂiﬁﬂm[n]il

CH,1,/Zn-Cu
@ [A]

Inires wfifan ¥ ifre [A] &
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61.

62,

Reaction
O

il
R-C-CJ IC!HL !:2" [B]

The compound [B] in above Reaction

is:
0

I
(A) R-C-OH

i
(B) R-C-C:H.

O

I
(C) R-C—CH,
o

(=} R—E-NH:

Reaction CHsCHO + CH,CHo —2INaOK 1
The major product [C] in above
Reaction is:

(A) C,H,~CH,~CH,-CH,OH

(B) C,H.,~CH=CH-CH,OH

(C) CH,~-CH=CH-CHO

(D) C,H,-CH=CH-C_H,

Reaction

CH.CO).0, ACo Na
Q—EHD{ : }?ﬁ * [D]

The major product [D]

in abowve

Reaction is:

(A) Q-CH=EH—DDDH
(B) Q—CH—CH—CHI'DH

(D) Q—cmu

0620201\D\2024

61. fifear
i
R-C-gl (GHek2n g

I fkisar | i (8] 8-
o
(A) R-C-OH
O
(B) R—E‘—EH:
i
(C} R-C-CHs,
O

[
(D) R-C-NH;
62. wifEr
DilNGOH__

CsH;CHO + CH,CHO — 22— [C]

Iis sl § wer g [C] &
(A) C.H,~CH,-CH,-CH,OH

(B) C,H,~CH=CH-CH,OH

(C} C.H.-CH=CH-CHO

(D) C.H.-CH=CH-C.H,

63. wfufisan
(CH,CO),0, ACo Na

Q—r}m = *[P]
Furen fufivar # e 3w (D] #-
(A) Q—CH-EH-CEGH

(B) Q“CH—CH—EHEGH

(C) Q—ﬂHEDH

(D) @—CGBH

R.T.O.
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64. Reaction

65.

@:@ * HCHO+(CH,) ,NH— [A]

H

The major product [A] in above

Reaction is:

CH,N(CH,),,
®
H

CH,N(CH,),

(€)
H

i @Umu

H
Reaction

Al{OCHMe:)s

CH; = CH-CHO ~(CH:):CHOH [E]

The major product [E] in above
Reaction is:

(A) CH,-CH,-CH,OH

(8) CH,-CH,-COOH

(C) CH,-CH,-CHO

0620201\D\2024

64.

65,

[26]

r

ifiafean

@:[;] + HOHO+(CH),NH (4]

H

wﬂmﬁ@mmﬁ-

(A H CH,N(CHa);

Mon

CH,N{CH,);

©
H

o B
H

yfirfs

CH,N(CH);

Al{OCHMe:z)s
(CH:):CHOH

CH. = CH-CHO [E]
FoRrep s 1 g 3 [E] &
(A) CH,-CH,—CH,OH

(B) CH,-CH,~COOH

(C) CH,~CH,-CHO

(D) CH,=CH-CH,0H
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66.

67.

68.

Reaction

CeHa=CH = CH-CHQ —{CH:CO):0, ACDONA
Fat

[E]
The major product [E] in above

Reaction is:
(A) CH.,-CH=CH-cH =CH—C'DDH.
(B} C,H.-CH=CH-CH=CH-CHO
(C) CeHy~CH=CH-CH=CH-CH,0H
(D) CgH,~CH,-CH.-CHO
Reaction

Al{OCHMe:),

~(CH:):cHoH ~ [A]
The major product [A] in above

CH,-CH = CH-CHO

Reaction is:

'(A) CH,-CH,~CH,-COOH

(B) CH,-CH,-CH,-CHO

(C} CH,-CH=CH-CH,OH

(D) CH,-CH=CH-COOH

Reaction

CHACOOC,H + CH,CO0C Hy — OO 4]
The Product [A] in above Reaction
is:

(A) CH,COCH,COOC,H,

(B) C,H,COCH,COOC,H,
CllH
(C) CHs-CH-CH,-COOC:Hs

(D) HO-CH,-CO-CH,-COOCH,

DB20201\D\2024

Be.

67.

68.

[27]

CURE it |

CaHy=CH = CH-CHO —{EHhE0)0,ACONS _ [E]

IR Afmar § qE 30 [E] &

(A) CH,~CH=CH-CH=CH-COOH
(B) C,H,~CH=CH-CH=CH-CHO
(C) C.H,~CH=CH-CH=CH-CH,OH

(D) CH,~CH,-CH_-CHO
Ffsrfemar

CH:~CH = CH-CHO QSR [a]

IR ATl 7 3eE [A] &
(A) CH,-CH,-CH,-COOH
(B) CH,-CH,-CH,-CHO
(C) CH,~CH=CH-CH,OH
(D) CH,-CH=CH-COOH
it

d)GH:ONa
|2| "

s affkfisn d 7= [A] &

CHyCOOC;Hs + CH;CO0C:Hs [A]

(A) CH,COCH,COOC,H,

(B) C,H,COCH,COOCH,
OH
[
(C) CHs-CH-CH,-COOC;Hs
(D) HO-CH,-CO-CH,-COOC,H,
P.T.0.
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69. Reaction

et et L ra

CQHIEHD + ':'!IHECH'J CﬂliiaﬂH

The product [A] in above Reaction Is:
(A) C,H.CHOH
(B) C.,H.COONa

(C) Both C.H.CH,OH and

C.H.COONa
(D)

CH,COOH

70, Reaction

[E ‘lr':“:'c;_'“'s (1} C,H.ONa
4 5
(2] H*

CoOC,H; 13y,

[E]

The product [E] in above Reaction is:

COOH
(A)
OCH,
(B)
)
H,OH
Cles
COOC,H,
(D)

0D620201\D\2024

69.

70.

[28]

yrfisfra
contialH_

a3

C.HsCHO + C.H:CHO —
e i # e (AT &
(A) C,H,CH,OH
(B) c:aHEC:jDNa
(C) Both CH,CH,0H

C,H,COONa

(D) CHJCDDH

rafesan

(1) C,H.ONa

[A]

—i
r

0
COOC,H,
+ | -
coocH, (2)H

(3) A
IR st § 39 [E] &

COOH
()

COCH,
(8)

H,0H
o S

COOC_H
(®) (ﬁj o
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71. Reaction

72.

13

oL a

The product [A] in above Reaction
Is;
(A)
(B)

(C) <:>—::Ht:=
0 o

Reaction
O

|l
CeHs -C-CH;

OH

Zn-Hg
“TonHcy [El

The major product [E] In above
Reaction is:

(A) C.H~CH,~CH,
OH

1
(B) CsHs-CH-CH;
(C) C,H,-CH,-CH,OH
(D) C,H,~CH,-COOH

Reacktion

<:>=n + Phjﬁ-—fﬁ-l; — [D]

The major product [D] in above

Reaction is:

(D)

0820201\012024

f1.

12,

73,

[29]

i
QD Zn-Hg

Con HCI ' [A]
Fureh JREDT i FeE [A] &

_Zn-Hg
ConHC]

TR FfifEa § 3| (] &

(A) C.H,—CH,-CH,
OH
I

(B) CoHs-CH-CH,

I
CeHs—C-CH; - [E]

(C) * C,H,~CH,-CH,OH
(D) C.H.-CH,-COOH
rifE

Q o+prhP-dh, — D]

I Afahear § 9 I [D] #-
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74. Reaction

CH
3 -
e (1) NH,-NH,

CH,” (2) NaOH, A > [E]

The product [E] in above Reaction

i5:

CHy,_

(A) CH
cH,”
CH,

(B) _CH-0H
CH
CH.

(C) CH-cHo
CH,

CH
T
(D) CH-NH
cH.” 1

3
/5. Reaction
Ph

Ph
o

The major product [A] in above

Reaction is:

F"hx

(R) | ZcH-CH,OH
Ph

(B)  CH-COOH
Ph
F"hq“

(C)  CH-CHO
Ph*"
Ph

(D) o _C=CH,

0620201\D\2024

~ s 8
€=0+ PhP~CH, ——[A]

[30]

74,

73

sl
CHy Mﬁl: [E]

~
_E=9 3y NaoH, &
3

awivep st # o [E] &1

(A) ok

(B) "

“:} : :‘ CH-ZHQ

(D)  CH-NH,

Ph v
_C=0+ Ph,P-CH, — [A]
PR

IR A # g genm [A] 2

Ph

T
(A) o~ HCHOH

Fh
(B} T CH-COOH
Ph~"

(C)  ™CH-CHO

S
(D)  c=cH,
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